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QUESTION 1

What is the function of Action-Based Extensibility (ABX)? (Choose the best answer.) 

A. It provides the capability to migrate content between instances of vRealize Automation. 

B. It provides efficient capacity and cost management for managed virtual machines. 

C. It provides intelligent remediation and integrated compliance for security patches. 

D. It provides a way to execute stateless function, which contain reusable parameterized actions. 

Correct Answer: D 

 

 

QUESTION 2

An administrator is trying to synchronize a new cloud template into the App-Dev project. The administrator copies the
cloud template code directly from Cloud Assembly into a text file and uploads it into the Github repository so that it can
be synchronized to the App-Dev project. 

When the administrator clicks ‘Synch Repos’, a new cloud template does not appear. 

Which step must the administrator take to allow it to synchronize from the Github repository? 

A. Add the name and version to the cloud template YAML code. 

B. Clone the cloud template 

C. Release the cloud template 

D. Upload the cloud template 

Correct Answer: A 

Reference: https://docs.vmware.com/en/vRealize-Automation/8.0/Using-and-Managing-Cloud-Assembly/
GUID-1847AC57-157A-4319-B425-A1A4731C9DDA.html 

 

QUESTION 3

What are the two prerequisites for setting up multi-organization tenancy for vRealize Automation? (Choose two.) 

A. VMware Identity Manager 

B. vRealize Suite Lifecycle Manager 

C. vRealize Automation Appliance 

D. vRealize Easy Installer 
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E. SaltStack Config 

Correct Answer: BC 

 

 

QUESTION 4

What are two advantages of using vRealize Automation on-premises over vRealize Automation Cloud? (Choose two.) 

A. Integrate with on-premises vRealize Operations 

B. Leverage existing VMware Identity Manager for authentication 

C. Support for on-premises vRealize Orchestrator instance(s) 

D. Support for provisioning workloads to on-premises infrastructure 

E. License key is not required 

Correct Answer: AB 

 

 

QUESTION 5

An administrator is preparing for a clustered deployment of vRealize Automation. 

Which three ports are required for the successful communication between vRealize Automation components? (Choose
three.) 

A. 8080 

B. 22 

C. 8008 

D. 80 

E. 443 

F. 25 

Correct Answer: CDE 

Reference: https://docs.vmware.com/en/vRealize-Automation/8.1/installing-vrealize-automation-easyinstaller/GUID-
CD4F1B8E-C776-4C4E-86F1-5523779E06B3.html 
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